hex sTATisTICS | “JUuNE 20077 @

S

Il) 4— Eraeks can be arr«nacr( ,;"' 4—.’ wg.lg - 24
- A
) Z f()C"{. ffﬂtpuchcj

W),

O<a £ 20 goo 4075100\(:5 X 20
204 % £50 7 480 24 Squnres X 20
§0¢x 4 oo 400 20 sgoares X 20
JOO £ x £ 200 200 1O squaes X 20

1) Eckinte of tohl wiing midpocts of iberual

10 x 860 + 25 x480 4+ 7§ X400 4+ 1Sox 200 = -{24.)800

) 3 €x - 302t - §4.0357 =S4.0
. n 56 , + 3¢.L

s.d. = $2" ,-niz :.'/"73)5’40‘5_6"54'03571
h=| 5§

.4 IL.72 =1L h 3

n=%6 , Za=3026, £x*= 178,970

L

. -‘)

OL;éliCI ,‘\C more  Ehan 2*5.4 «bove mean

Sa.0 + 2x16.1 =37, 4 o 93 05 aw outlier
m)
W = L2 =10 L:‘ S l2% -0 = [(2x$4.0-10 = 54.8
5.0{3 = LL2xsde = L2x1b72 = Ao 0t

T 20, +h 3l




MET sTATISTICS JUNE 2007
4)
) P (e Leat) = 36 _ g
A) o 2%
B) P(Exackyl) = 4464€ _ 20
5o )

E\J"Bt L\l"j (R ({ 'L(‘j
Totel

2
'Y

'I;) P(bocs rot r¢c3¢\€ {A«Pef \V€c~3c'¢S a|u-~fnwh)

= 9944 - 13
G+4+ 348 24

i)

From 2 Pq'ola closen

7 P(Eﬁu“s one rfcnc(q e b benn \,.sq,ﬂe)

-—
-—

P( ,Def.son r{cjclﬂ kt('zl\Cn wuéa) -

4+8+14+¢ - I
So $O

IO(F\/H' Joq> X P(SCCD“J Aozsh'é) + P(F.rd'p!oes-\‘é) X P(Sem«-—( Joeg) A

- = IR 32 + 32,18 _ 11§22 _ o0.470%
S0 419 SO 49 2450
z) |
l~ ‘ D‘\‘_]f ﬁmn Ff'{‘L Con 14:1
0 YA 2
1 | 3 Medimn it e 2241
2 4 7 2
J 3 10 =n.¢
4 Y 1
f 3 'Y M{ﬂ(mn :4.
b 2 20
7 A 22 STYR 4 ”h‘ A‘W( 12{—\1 ['1L~cn$
are lpoék 4_
Lo = iten % =5 ue mitew 18T



METI STATSTICS ) TJunNE 2007 @

Cewod) 2 LR =2  and VO =

IQQ T UQ ~LR T & -2 :‘3

Si.‘) X

b mpd Vd;y{: AMJ two VAI\J reafont Sueh &g

. SAmP[e X 6h)3 bos 2~3eu§) whick Maz mot be rtpfc.{e-\‘l't*fu{:

2 d&l“‘k fe,[cf a0 loenl A/(k} haf all of @JC#«-'—\

3 even ) € dtcre,d{-.z it ma not ‘D-E’_ eue & jla’aﬁl N‘t'hlﬂj:
. s 3 . ,

4. mpre dm_lg with vara Adves npt imply more rai-ball

g a § n-cat timeicule huu et he ehuusk o Show a trend

-0

NVHS«:( ok e s ok C,stn‘-\a » 4 €~ T g 7C4_ = 3¢

;) On|3 )o‘\( t‘we.\t Cofrc.c(' fo
= 1
‘ P((,o JC.J‘) gs_
L) - 0 \ 2 3 4
r* o I 4 9 16
Pex=r}y 0 & 12 12 1
ey 3s 3§ 3y
E(x) = Ox0 +4x] + 18x2 + 12%x3 + |x4
NAY
E()‘\ - 3_9_ - -Lé or ?_Q'Z_Q‘s
35 7
E(x’) = o006 + 4x| + I8€x4 +12x9+ lxl(,]
3
= 200
&
N .
Ve () = Ex) - (EOD)
= 200 _[16)\* = 0.479%
K1Y -7

T 0.496 b 3 s.k£




MET  STATISTICS 1 JuNE 20077 ()

Hat Ditecse

et

PﬁSn'{’we \
- O-Og- - Llear

O-\ o Has buar(

Boktll —
el

's) .C” 0 -0\ HA‘ b\‘ch 2

/

0-006

i

ng

P ( N%AJ’N{ N C‘a() = O.C“ % O.qc] = O. °|00‘1

P(Has Disease) = 0.03x 0.9 + 0.06 x 0.10 + 0.9) x 0.9

1}

"1

0.0436

lv)

P(Neﬁa('we \ Has b-seue) = P(chaé:ua A Hac Diceasa )
P(HAS b:’.(eu()

0.91 x 0.0l - 0.2087
0.047%6

\l

v)

Ar((o*;-«a-‘rc['} | '|..\ ( o'( Peo’blg w}f‘\ tL.Q d.’seu( w;” L& S\ven
the all clear !"3 Enig Sereening procets, The test i bEherebve not
Ve(ll relicdle

V)

P (Nesaf’w&) + F(bo\,‘,{'-ﬁvl A Has Difeate N (/are/) + P(Bov“"ulﬂ Clor>

"

0.9 + Q.06 x010x 0.02 4+ 0.0L x 0.90

0.964 12



MET  gTATSTICS | JUNE 2 007 @

g€) X ~8(17,0.2)
;)' P(x=4) = | -P(xes) =1 —o0.548%7 = 0.451

i) E() =np = M0z =24

]fi) Hod«l veloe will be next ko 3.4

c
0.1414

2 |
P(x=2) = "¢, x 0.2 n0.%

P (x=3)

4 13
P (x:4‘) z '7c4_ X 0.2 x 0.8 = 0.2043

n 1 -
7(.3 x 0.2 0.2 T 0.23%43 mode! value

MoS£ Ill’\i(3 huhb*’»“ l'§ X:3

iv)
‘ Ha: P - 0.° where P 1§ Ehe ProL A
A)  H, ¢ P > 0.2 maths qmdufe is accepted

E) Kot p 762 becavse it it suggeste wathe gadonter more gueceyibal

| — 0.8494F = 0.1657

L]

v)f P(x»e) = | —f(xes)
P(x»7) = | = P(x£¢) = |- 0.9623 = 0.0377 <Sh

Cm\{uu" re.bio—\ g -7) 8’ ", '0) ”) 'Z, |-S’ )4./ ’g" 16, !7§

V\> '
Unaltered hecacte P(x"z(o) = o.l687 > 1070

so <t need X 27 1o be ' cr{{‘-i,o.' rcs:},n 4!0701

6



